

Ecuación Diferencial Ordinaria
Primer orden NO-LINEAL NO-EXACTA.

$$M(x, y) + N(x, y) \frac{dy}{dx} = 0$$

$$\frac{\partial M}{\partial y} \neq \frac{\partial N}{\partial x}$$

Método Factor Integrante

$$\mu(x, y) M(x, y) + \mu(x, y) N(x, y) \frac{dy}{dx} = 0$$

EDO(1) NL-EXACTA.

$$\frac{\partial}{\partial y} (\mu M) = \frac{\partial}{\partial x} (\mu N)$$

$$\underbrace{\mu(x, y)}_{\text{incógnita}} M \frac{\partial \mu}{\partial y} + \mu \frac{\partial M}{\partial y} = N \frac{\partial \mu}{\partial x} + \mu \frac{\partial N}{\partial x}$$

$$\mu \left(\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x} \right) + M \frac{\partial \mu}{\partial y} - N \frac{\partial \mu}{\partial x} = 0$$

$$M \frac{\partial \mu}{\partial y} + \mu \frac{\partial M}{\partial y} = N \frac{\partial \mu}{\partial x} + \mu \frac{\partial N}{\partial x}$$

Hipótesis: Supongamos que $\mu \Rightarrow \mu(x)$

$$\mu \frac{\partial M}{\partial y} = N \frac{d\mu}{dx} + \mu \frac{\partial N}{\partial x}$$

$$N \frac{d\mu}{dx} = \mu \frac{\partial M}{\partial y} - \mu \frac{\partial N}{\partial x}$$

$$N \frac{d\mu}{dx} = \mu \left(\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x} \right)$$

$$\frac{d\mu}{dx} = \mu \left(\frac{\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x}}{N} \right)$$

$$d\mu = \mu \left(\frac{\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x}}{N} \right) dx$$

$$\frac{d\mu}{\mu} = \left(\frac{\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x}}{N} \right) dx$$

$$\frac{d\mu}{\mu} = P(x) dx$$

$$\int \frac{d\mu}{\mu} = \int P(x) dx + C_1$$

$$\ln(\mu) = \int P(x) dx + C_1$$

$$\mu(x) = e^{\int P(x) dx + C_1}$$

$$\mu(x) = e^{C_1} e^{\int P(x) dx}$$

$$\mu(x) = C_{10} e^{\int P(x) dx}$$

$$\frac{dy}{dx} + \phi(x)y = 0$$

$$\begin{pmatrix} \phi(x)y \\ M(x,y) \end{pmatrix} + \begin{pmatrix} 1 \\ N(x,y) \end{pmatrix} \frac{dy}{dx} = 0$$

$$\frac{\partial M}{\partial y} = \phi(x) \quad \frac{\partial N}{\partial x} = 0 \quad \frac{\partial M}{\partial y} \neq \frac{\partial N}{\partial x}$$

NO-EXACTA.

$$\left(\frac{\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x}}{N} \right) \Rightarrow \left(\frac{\phi(x) - 0}{1} \right) \Rightarrow \phi(x)$$

$$\frac{dy}{y} = \phi(x) dx \quad \int \frac{dy}{y} = \int \phi(x) dx$$

$$\ln y = \int \phi(x) dx$$

$$y = e^{\int \phi(x) dx}$$

$$e^{\int \phi(x) dx} \phi(x)y + e^{\int \phi(x) dx} \frac{dy}{dx} = 0$$

$$\frac{\partial MM}{\partial y} = e^{\int \phi(x) dx} \phi(x) \quad \frac{\partial NN}{\partial x} = e^{\int \phi(x) dx} \phi(x)$$

EXACTA

$$\text{Sol. gen.} \Rightarrow \int NN dy + \int \left[MM - \frac{\partial}{\partial y} (NN dy) \right] dx = C_1$$

$$\int e^{\int \phi(x) dx} dy = e^{\int \phi(x) dx} \int dy$$

$$\frac{\partial}{\partial x} \int e^{\int \phi(x) dx} dy = y e^{\int \phi(x) dx} \phi(x)$$

$$\left(MM - \frac{\partial}{\partial x} \left(e^{\int \phi(x) dx} \frac{dy}{dx} \right) \right) = y e^{\int \phi(x) dx} \phi(x) - y e^{\int \phi(x) dx} \phi(x)$$

$$Sg = y e^{\int \phi(x) dx} = C_1 \rightarrow y = C_1 e^{-\int \phi(x) dx}$$

$$\underbrace{2y^3 + 32x^2y^2 + 18xy^5}_{MMM} + \underbrace{(3xy^2 + 16x^3y + 30x^2y^4)}_{NNN} \frac{dy}{dx} = 0$$

$$\frac{\partial M}{\partial y} = 6y^2 + 64x^2y + 90xy^4$$

$$\frac{\partial N}{\partial x} = 3y^2 + 48x^2y + 60xy^4$$

$$\left(\frac{\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x}}{N} \right) = \left(\frac{6y^2 + 64x^2y + 90xy^4 - 3y^2 - 48x^2y - 60xy^4}{3xy^2 + 16x^3y + 30x^2y^4} \right)$$

$$= \frac{3y^2 + 16x^2y + 30xy^4}{3xy^2 + 16x^3y + 30x^2y^4}$$

$$\left(\frac{\frac{\partial M}{\partial y} - \frac{\partial N}{\partial x}}{N} \right) = \frac{(3y^2 + 16x^2y + 30xy^4)}{x(3y^2 + 16x^2y + 30xy^4)} = \frac{1}{x}$$

$$\frac{d\mu}{\mu} = \frac{dx}{x}$$

$$\int \frac{d\mu}{\mu} = \int \frac{dx}{x}$$

$$d\mu = \frac{1}{x} dx$$

$$\mu = x$$

$$M \frac{\partial \mu}{\partial y} + \mu \frac{\partial M}{\partial y} = N \frac{\partial \mu}{\partial x} + \mu \frac{\partial N}{\partial x}$$

$$\mu \rightarrow \mu(y)$$

$$M \frac{d\mu}{dy} + \mu \frac{\partial M}{\partial y} = \mu \frac{\partial N}{\partial x}$$

$$M \frac{d\mu}{dy} = \mu \left(\frac{\partial N}{\partial x} - \frac{\partial M}{\partial y} \right)$$

$$\frac{d\mu}{\mu} = \left(\frac{\frac{\partial N}{\partial x} - \frac{\partial M}{\partial y}}{M} \right) dy$$

$$\frac{d\mu}{\mu} = Q(y) dy$$

